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NO.0 (BC. 1) 0.0 - — — — — —
NO. 0 +10. 637 (SP.1) 10.6
NO. 1 9.4 3.1 1.55 14. 6
NO.1 +1.274 (EC.1) 1.3 3.1 3.10 4.0 NO.15RHE
NO. 1 +8.259 (BC.2) 7.0 2.8 2.95 20.7
NO. 1 +15.304 (SP.2) 7.0 2.6 2.70 18.9
NO. 2 4.7 2.6 2.60 12.2
NO.2 +2.349 (EC.2) 2.3 2.8 2.70 6.2
NO.2 +6.378 (BC.3) 4.0 3.0 2.90 11.6
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B 56.7 115.8




5. B KIEEMIEEE



HKBEMINEEKEHR

él; Eé);\ (I/:E *};2) (% ,{1[;]3) (l%; él;;l) (I;; 1;;5) o — =
B R
HEKIBEMT
fEELT BR1E m’ 86.2
BRL C(1 ) m’ 39.6
BRL D(E®) m’ 23.6
HEEEBIF m’ 41.6
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NO. 0 (BC. 1) 0.0 — — — — — —
NO. 0 +10. 637 (SP. 1) 10. 6 0.7 0.35 3.7 0.3 0.15 1.6 0.6 0.30 3.2
NO. 1 9.4 0.5 0. 60 5.6 0.3 0.30 2.8 0.6 0. 60 5.6
NO.1 +1.274 (EC.1) 1.3 0.5 0.50 0.7 INO. 13RH 0.3 0.30 0.4 0.6 0. 60 0.8
NO.1 +8.259 (BC. 2) 7.0 0.5 0.50 3.5 0.3 0.30 2.1 0.6 0. 60 4.2
NO. 1 +15.304 (SP.2) 7.0 0.5 0.50 3.5 0.3 0.30 2.1 0.6 0. 60 4.2
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NO. ~ NO. NO. ~ NO.
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NO. 0 (BC. 1) 0.0 4.6 — — 4.52 — — 4.62 — —
NO. 0 +10. 637 (SP. 1) 10. 6 4.0 4. 30 45.6 4.16 | 4.340 46. 00 4.26 | 4.440 47.06
NO. 1 9.4 3.7 3.85 36. 2 4.50 | 4.330 40.70 4.60 | 4.430 41.64
NO.1 +1.274 (EC. 1) 1.3 3.7 3.70 4.8 NO. 15RA 4.50 | 4.500 5.85 NO.17%H 4.60 | 4.600 5.98 NO.17H
NO. 1 +8.259 (BC.2) 7.0 3.6 3.65 25.6 4.50 | 4.500 31.50 4.60 | 4.600 32.20
NO. 1 +15.304 (SP.2) 7.0 3.7 3.65 25.6 4.50 | 4.500 31.50 4.60 | 4.600 32.20
NO. 2 4.7 3.7 3.70 17.4 4.50 | 4.500 21.15 4.60 | 4.600 21.62
NO. 2 +2.349 (EC.2) 2.3 3.7 3.70 8.5 4.50 | 4.500 10. 35 4.60 | 4.600 10. 58
NO.2 +6.378 (BC. 3) 4.0 3.7 3.70 14.8 4.50 | 4.500 18. 00 4.60 | 4.600 18. 40
NO. 2 +16. 723 (SP. 3) 10. 4 3.7 3.70 38.5 4.50 | 4.500 46. 80 4.60 | 4.600 47.84
B 56.7 217.0 251. 85 257.52
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T RAI77ILNEHEERR t=4cm,
S RAREIEL 5 25 AR L 4 8 1 # 5A A (BH) m’ 155.4 |150.8+4.57
av9)—hEEERR t=10cm,
S REEL S35 R B R A FE A A (BH) m? 519
SHAERRYIBT T FAI7 LSRR t=4cm m 4.8
SHEMRUIET T a9 —hEEEERR t=5cm m 3.9
ERLET FROBE AR B TS99 B4t Cork m® 10.9 [10.4+5.19 X 0.1
" AsEg m® 4.7 [155.4 x 0.03




BEMBET BEMRE
A o TAI7ILFEUEL s avy)—rERIEEL s s
ks i [EIL BTETE T 3

NO. O (BC. 1) 0.0 2.4 - - - -
NO.0 +10. 637 (SP. 1) 10.6 4.0 3.20 33.9 0.20 0.10 1.1
NO. 1 9.4 2.4 3.20 30. 1 0.20 0.20 1.9
NO. 1 +1.274 (EC. 1) 1.3 2.4 2.40 3.1 NO. 15 0.20 0.20 0.3
NO. 1 +8.259  (BC.2) 1.0 2.3 2.35 16.5 0.20 0.20 1.4
NO. 1 +15.304 (SP.2) 1.0 2.4 2.35 16.5 0.20 0.20 1.4
NO. 2 4.7 2.4 2.40 11.3 0.20 0.20 0.9
NO.2 +2.349 (EC.2) 2.3 2.3 2.35 9.4 0.20 0.20 0.5
NO.2 +6.378  (BC.3) 4.0 2.2 2.25 9.0 0.20 0.20 0.8
NO.2 +16. 723 (SP.3) 10. 4 2.6  2.40 25.0 0.20 0.20 2.1

& 96. 7 150. 8 10. 4
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A=5.19n’
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